Formula sheet for the second exam in Math 135:F2, summer 2006

Function Derivative
k (const.) 0 Function Derivative
" na™ ! Cf(x) Cf'(z) (C const.)
€ © fx) +g(z) f'(z)+g'(x)
Inz 1/x f
A 1) ofe) 116): k) 1059
sinx cosx f(x) f'(@)g(z) — g'(2) f(z)
Ccos T —sinx g9(z) g(z)?
tan z (secz)? flg(@)  f9(@)) - g'(x)
Exponential properties Logarithm properties
abte=ab-a¢ a b =1/ab l (a-b) = lna +Inb In(a’) = bln(a)
(a¥) = ab e~ 2.718 In(a/b) =n(a) ~In(b) In(z) = —1n(d)
a®=1 e =qifa>0 In(e*) =a In(1)=0 In(e) =1
Miscellaneous formulas
_ b2 —
If a # 0, the roots of ax? +bx +c =0 are x = w.
a
Distance between (a,b) and (c,d): /(a —¢)2 + (b — d)2.
Circle center (h, k) and radius r: (x — h)? + (y — k)? = r?

f is continuous at w if lim f(z) exists and equals f(w).

Intermediate Value Theorem
If f(x) is continuous in a < x < b, then f(x)’s values include
all numbers between f(a) and f(b).

f'(z), the derivative of f at z, is defined to be %in%) M

Mean Value Theorem
If f(z) is differentiable in @ < z < b, then there is at least one
¢ between a and b so that f/(c) = W.

Area and Volume Formulas
Rectangle A = LENGTH-WIDTH
Circle A = 7 RADIUS?

Triangle A = 1 BASE-HEIGHT
Box V = LENGTH-WIDTH-HEIGHT
Cylinder V = 7 RADIUSZ-HEIGHT
Sphere V = 47 RADIUS?

Special values of
trig functions
0 sinf cosf  tanf
0 0 1 0
T 1 V3 1
6 2 2 V3
A 1 1
4 V2 V2
7 1 0 Undefined




